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40 & [if] =} 19,342 540 2.8
41 & =i g2 6,181 190 3.1
42 s 53 ! 9,527 56 0.6
43 AE N =] 3,904 48 1.2
44 X yi) g 10,324 128 1.2
45 B % =] 3,963 28 0.7
46 E R B B 12,353 85 0.7
47 s 8 g 4,371 108 25
FEFESE 596,891 6,062 1.0
(2)A0FIRZUNDHEREB~DIZREZ JsEHT)

M7, CRIFF A9 LRI [ £ F =

2 % BRBRBELTOAAEEMEAEHT (%)

(AN) SO EHESNE=E (N) C

A B (B~ A X 100)
(B#8)

48 L 1% [it] - - -
49 il =i it - - =
50 £ i it - - -
51 = WV - F = = -
52 ¥ = il 634 7 1,
53 i K i1l 3,227 33 1,
54 JI| 53 il - - -
55 5 [if] it = - -
56 P A il 207 2 1.0
57 % & B W = = -
28 = ZR it - - -
59 X f [it] 7,158 67 0.9
60 iR [it] - - -
61 P B il 15,770 100 0.6
62 = 5 h 906 4 04
63 d A W T 1,939 19 1.0
64 & [if] h 3,868 17 0.4
feEERTHET 33,709 249 0.7




FRVAMIIVARZICOVWTORRAT - BEREROEIEIN

(B EMFE)
BEHE ERRHE R
Ehe[a % ([a]) SHENE(N) Ehe[a % ([A) SHENE(N)

1 it B B 107 1,865 156 659
2 = F =] 95 4812 51 458
3 = F =] 74 2,002 65 1,162
4 = 3k g 23 734 14 175
5 A H g2 3 64 11 12
6 L % g 23 427 27 37
7 & 5 2 121 7,825 81 551
8 x 3k =2 93 2,225 101 402
9 Vi x = 56 1,666 78 170
10 it 5 =3 5 3,022 75 127
11 15 £ = 23 578 16 25
12 ¥ = ! 140 18,289 156 279
13 £l R 0 3 85 75 263
14 M= )l B — — 12 490
15 E3il po g 8 169 7 7
16 E L 2 - — 45 206
17 A )| g2 - — 35 46
18 2 =2 4 79 1 1
19 i ) g 29 543 10 39
20 P 34 = 148 1,467 46 1,618
21 lI5z B g 58 718 28 254
22 &% [if] =3 25 556 59 353
23 B pal| g 42 1,811 31 353
24 = ) g 1 10 14 15
25 3% =i g2 - — 31 31
26 R R fF - — 1 1
27 X IR FF 108 2,950 139 317
28 B JES g 9 252 327 3,652
29 o B =} 6 256 12 194
30 M FHoh B 17 731 28 176
31 5 B ] 2 161 5 5
32 5 Uiy =Y 17 1,374 34 227
33 [if] L g 123 2,803 82 177
34 = 5 g2 4 187 8 37
35 L A = 85 750 83 272
36 & 5 g 2 61 - -
37 & JIl g2 9 429 - -
38 gy g g 3 72 69 167
39 = pal| 2 - — 1 1
40 i [iF] 2 360 8,061 204 4,499
41 & i g2 8 81 56 134
42 K L =} 1 104 89 89
43 AE i ! 20 896 60 117
44 N 2l g 28 526 533 4,670
45 = % =2 18 247 28 228
46 E R B B 188 8,006 260 3,760
47 P a2 g 4 30 90 996
fEFFESE 2,093 76,924 3,334 27,452

(5E#RH)

BEHE i BEAREX
Ehe[a % ([a) SIENE(N) Ehe[El% ([A) SHENE(N)
(B#8)

48 #L 1% il - - - -
49 il =i it - - - -
50 £ i [l - - — —
51 S WV F h - - - -
52 T = il - - 104 222
53 i i [it] - - - -
54 Ji I} h - - - -
55 & [if] it - = - -
56 P VA il = - - -
57 2 B B 1 - - - -
58 R B [it] - = - -
59 X f [ii] 97 2,495 - -
60 =] ™ - - - -
61 i P il 1 60 264 3,360
62 & = il - - - -
63 dt A M T 193 3,867 20 207
64 15 il ] 147 4,001 147 4,001
e AR ET 438 10,423 535 7,790




mET# 3 B RZ 7 REHER

(BB ERTIR)
BREFXIAMILREE CEPFRIAMILREE
®mR 2 %2 BB 1t FHE 4 BFRER O F OER ¥ 2 2 HE M BE M B FE HF E
(AN) (N) (N) (%) (N) (N) (N) (%)
D H
A B C (B~A X% 100) E F G (F/E x100)
1 it piir bl 3,515 80 3,435 2.3 3,555 56 3,499 16
2 = F =] 3,637 79 3,558 2.2 2,304 31 2,273 1.3
3 = F ! 4077 53 4,024 1.3 4,077 21 4,056 0.5
4 = 3 =] 727 11 716 15 728 3 725 0.4
5 U H 2 17 1 16 5.9 8 0 8 0.0
6 L i = 171 1 170 0.6 203 1 202 05
7 12 5 2 3,303 42 3,261 1.3 2,618 30 2,588 1.1
8 xR 17 =} 612 0 612 0.0 613 0 613 0.0
9 i x =3 75 0 75 0.0 75 0 75 0.0
10 it 5 2 396 2 394 0.5 395 2 393 0.5
11 15 * 2 1,906 15 1,891 0.8 1,856 14 1,842 0.8
12 T = 2 2,635 25 2,610 0.9 2,635 30 2,605 1.1
13 £l R &R 16,432 152 16,280 0.9 16,432 117 16,315 0.7
14 M = I B - - - - - - - -
15 # i) B 325 3 322 0.9 221 1 202 05
16 = i g - - - - - - - -
17 A JI ! 60 5 55 8.3 60 2 58 3.3
18 & =} 1,041 20 1,021 1.9 1,022 46 976 45
19 i 5 2 - - - - - - - -
20 pis g g2 708 3 705 0.4 790 3 787 0.4
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